‘Answers to Problem 4.1
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A, 1.

Z =2

N
N =5
B+1L=N
12+32=n

| At a Glance

Let's Be Rational

Students’ ways of expressing these
relationships will vary greatly. Addition
and subtraction are inverses, or they undo
each other. In a number sentence such as

N + %— = T%,Zyou are adding an unknown

number to £ to get % In order to figure

out what that number is, you can subtract
% from %, getting back to the original

starting value.

—£>_ 42 =al
N—56 ;B,SON—46

173 8 2
N~——12 4,soN—120r3

=31 . n=2
N~8-l~2,soN—8

4, Using fact families, you can find a fact in

the family that expresses n as the sum or
difference of the two known numbers.
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A 1 3Xg=15
12_2
5X3775
2 .2_1
157375
2 .1_2
15753
35_15
2. 7 X§=33
5.,3_15
87%4732
15.5_3
327874
15.3_5
327478
a 33_9
S 5X8=10
3.3_9
8 X510
9 .3_3
207875
92 .3.3
207578
2.2_4
4 5X5=15
22_4
3X5715
4 .2_2
57573
4 .2_2
57375
3 _21
g X N=gp
3 _21
B"'sxg“so
3_21
N><83—80
21.3_
goTg=N
21 . o3 _ 7
go " N=gso,N=15
2 10
2. ZxN=1
2_10
%X3“w
10.2_
%'3“N
0. g2 _5_
15-,N~3SO,N-5—1
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alleral - At a'Glance

N
. . O
i . 215 o A

i g B N

S N=2
3. 1#N—3

L2
1+2=nN

2 _
NX§—1

2% N=1so, N=

Njw

WIN
X
Z

8 4
=15 SO, N—5.

C. Marla is thinking of the relationship between
the factors, 2 and N, and the product, 15.
Any rearrangement that keeps the same
relationship will be as true as the original
sentence. So the rearrangement she has
chosen is true, and it gives the value of N
that makes the original sentence true.

D. 1.

[=> U

3
3_14
5

JES PO Y Y
T2 PNITAES

X X
S B BW Wi
i

1l

-
i

- W W

g
I

+ W

)

N

| Blws s
S

Il
>
ON— ON—

=N
|—
!
-
|—
Il
- N
NI WiN

I

C3X

-
I

LW NoW Nojw
NjWw W MO NN

q
I

NINO NNO

Copyright © Pearson Educ\;)tion, Inc,, or its affifiates. Ali Rights Reserved.

R I RN




J&chm@%%%

Appllcatlons 23-28
Connections: 47-56

Answers to Problem 4 3
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A This is a division problem. You need to know
how many eighths are in 14 1— +1=10.
Sammy will take 10 hours to walk 114 miles.

B. This is a division problem You need to know
how many groups of 2 Zarein 51 5— + — =8.
Kalisha will need 8 sections of fence

C. Thisisa subtractlon problem. 3— - — = 23
Sasha has 2— pints of bluebemes Ieft over.

D. Thisis a multiplication problem. You need to
know how much is the result of 32 groups
with 24 in each group. 31 X 2—— 95

E. There are two subtractlon problems here.
The first is to determme how many sweet

“rolls Christie sold. 5 — 1- = 3 The second
is to determine how many more sweet rolls

Christie sold than Leslie did. 334 - 215 =3
Christie sold 56 dozen sweet rolls more than
Leslie did. (Multuplymg 5X12=10tells

you Christie sold 10 more sweet rolls than
Leslie did.)

F. First you need to subtract to find the amount
remaining after Raymar ate his share of
brownies. 1 MZ 4 Then you need to
multlply because Kalen ate part of what was

left. 1 >< %

¥
m Let's Be fialions! At a Glance

G. This question involves addition and

multiplication. You can use these operations
in different orders. First you can add to get
the total weight of each snack pack, and then
you can multiply by the number of students.
Or you can multiply each item’s weight by
the number of students, and add to get the
total weight of all the packs.

[ &+ 7gjos = (feoa =12
which is 1015 pounds,

Or, you can write

24(1) +24(3) + 24() =6 + 3+ 1
which is also 10% pounds.

. This question involves addition and

multiplication. You can use these in different
orders. You can add the material for two
items for each granddaughter and then
multiply by three. Or you can multiply the
material for each item by three and then add
to get total. :

(jacket + exira) = 10

3(15+N)=10
Or you can write 3( ) + 3N =10 which is
the same as 47 + 3N = 10. Comparing these

two slatements to the choices, you see that
choice (1) is correct. Choice (2) is also correct,
because it is a rearrangement of the second
strategy. Choices (3) and (4) are incorrect.
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§ f Applications
: , ot =N '
[ 2 t7g=N
B N5
| 2 §-g=N
R %
| N+5=3
1 C den=2
| 3. N=11=22
| /\2—2%;1%
| 13+25=N
| 22+1l=nN
o 4 N+3=3
e e
RN
o 3-N=3
. 5. 175
! 6. s
| 7. Y
f 8. %
,‘ 9.1
[ 10. -4
| 1M m=5
: 12. Answers will vary; m =% =35
: or any choices of m and n with m+n=§’—,
o will solve the problem.
% Z 13. m==4
1
.
:
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a. 24—%—1-1=211 buns

b. 64 servings, with % of a bun left over
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(which is % of a serving)

Ol

10 minutes) for one way and 2% hours for

the round trip.
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Lel's Be Ralicnal

N=%

The original expressions are not
equivalent In part (a), you need to add
i and before muitiplymg by N. In part
(b), you need to muitlply 3by N before

&)
Q
S
=3
@
~

— \IIS G DN W N W W= N Nj—

3 and 3. These are reciprocals.
% and 4. These are reciprocals.

-12- and 2. These are reciprocals.

jg + % is larger. There afe many ways to

know this without computing. One way is
to reason that you can add 1 small thing
and 5 large things or 1 large thing and

5 small things. 5 large things will be larger
(assuming the large things are the same
size in both instances, and that the small
tlig?ings are also). The two sums are 57 and
24 respectively.

Another wa to tell that 14345 larger is to
y 375 9

note that + 5> 23 Thus,
5.1 f{1.4\ 1o (14 11,5
678 &*d* >Q 8%@”6+&

The two sums are 53 24 3 and 32 24, respectively.
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43, 6 8 is larger. There are many ways to

44.
45,
46,

know this without computing. One way is
to observe that for a large difference, you
want the numbers to be far apart. Because
%> % and %— < %, the first difference will

be greater than the second The two

differences are 24 and respectlveiy

Another way to tell that i — is larger is tc

note that 2 z>% 5 and 1 > % T hus,

5_1 5_1 5
67878878

fact that subtracting a larger number

- % (Here you use the

from a given number results in a smaller

numbet.) The two differences are 32771 and
11

respectively
N = -3-
N=1

In a simpler form this sentence is
1 + m + n = 3. Using fact families to
rewrlte it, you have m+n= 124 So
now you can choose any numberfor m
(less than 1%% if you are working with
positive numbers) and calculate n, since
n= 124 m. Possible solutions are m =1
and n= 21, orm= 24 and n= 124, or

= ;4 and n= 22, and so forth.
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